Stirling Numbers Via Combinatorial Sums

Anwesh Bhattacharya¹

¹Birla Institute of Technology and Science, Pilani, Rajasthan f2016590@pilani.bits-pilani.ac.in

Abstract. In this paper, we have derived a formula to find combinatorial sums of the type $\sum_{r=0}^{n} r^k \binom{n}{r}$ for $k \in \mathbb{N}$. The formula is conveniently expressed as a linear combination of terms involving the falling factorial. The co-efficients in this linear expression satisfy a recurrence relation, which is identical to that of the Stirling numbers of the first and second kind.

Keywords: Combinatorics · Stirling Numbers

1 Introduction to Stirling Numbers

The Stirling Numbers [12] arise in combinatorics in describing a set of n distinct objects by specific groupings. Stirling Numbers of the first kind describe the number of ways to permute n objects such that it forms k disjoint cycles, denoted by $\binom{n}{k}$. On the other hand, $\binom{n}{k}$ describes the number of ways to partition n objects into k non-intersecting subsets. They are described by the following recurrence relations -

$$\binom{n+1}{k} = n \binom{n}{k} + \binom{n}{k-1}$$
 (1)

$$\binom{n+1}{k} = k \binom{n}{k} + \binom{n}{k-1}$$
 (2)

One subtlety to note is that eq (1) is the recurrence for the *unsigned* Stirling numbers of the first kind. The *signed* Stirling numbers of the first kind follow an alternative recurrence -

$$s(n,k) = s(n,k-1) - ns(n,k)$$
(3)

The Stirling Numbers find their applications in Computer Science as has been exclusively pointed by Donald Knuth [8].

2 Related Works

We summarise here some of the related works in the literature involving power sums of binomial coefficients and Stirling Numbers. [2] has analysed power sums involving Stirling Numbers in the complex domain. In [5], sums involving product of binomial co-efficients and Harmonic numbers H_n have been analysed and similar work has been done by [1] pursuing a connection between Stirling and Harmonic numbers. [6] has pursued results related power sums of binomial co-efficients with other binomial coefficients.

There's a connection between these power sums and Wilson's congruence which has been demonstrated in [7]. They have analysed power sums of the type in eq (4) which closely resemble the sums studied in this work —

$$\sum_{r=0}^{n} (-1)^{n-r} r^k \binom{n}{r} \tag{4}$$

A similar analysis has also been performed in [11], [3] and is well known classical result in combinatorics. [4] has analysed sums of the type in eq (5) —

$$\sum_{r=0}^{n} \binom{n}{r}^{a} \tag{5}$$

Theorems due to de Bruijn [9] suggest that no closed forms for it exist for all $a \in \mathbb{N}$. However, some of its divisibility properties have been explored in [4].

3 Basis of the Conjecture

Using the binomial expansion —

$$(1+x)^n = \sum_{r=0}^n x^r \binom{n}{r} \tag{6}$$

On differentiating —

$$n(1+x)^{n-1} = \binom{n}{1} + 2x\binom{n}{2} + 3x^2\binom{n}{3} + \dots + nx^{n-1}\binom{n}{n}$$
(7)

Setting x = 1 in equation (6), we get —

$$\sum_{r=0}^{n} r\binom{n}{r} = n2^{n-1} \tag{8}$$

which is our required answer. As a logical extension, one can ask what the sum of $\sum_{r=0}^{n} r^2 \binom{n}{r}$ is. We first multiply eq (7) with x and differentiate to obtain —

$$n(1+x)^{n-1} + nx(n-1)(1+x)^{n-2} = \binom{n}{1} + 2^2 x \binom{n}{2} + \dots + n^2 x^{n-1} \binom{n}{n}$$
(9)

On setting x = 1 in eq (9), we get —

$$\sum_{r=0}^{n} r^2 \binom{n}{r} = n2^{n-1} + n(n-1)2^{n-2}$$
(10)

If we use the notation, $S_{nk} = \sum_{r=0}^{n} r^k {n \choose r}$, we also find that —

$$S_{n3} = n2^{n-1} + 3n(n-1)2^{n-2} + n(n-1)(n-2)2^{n-3}$$
(11)

As it can be seen, the $n(n-1)2^{n-2}$ term is padded with a co-efficient of 3. If we denote $\prod_{i=0}^{k-1} (n-i) = (n)_k$ (A.K.A the falling factorial for $k \ge 1$), and $T_{ni} = (n)_i 2^{n-i}$, then we conjecture that -

$$S_{nk} = \sum_{i=1}^{k} a_{ki}(n)_i 2^{n-i} = \sum_{i=1}^{k} a_{ki} T_{ni} \qquad 1 \le k \le n \qquad (12)$$

The a_{ki} 's are general co-efficients which are padded to T_{ni} terms. Note that $(n)_n = n!$ and for any k > n, we have $(n)_k = 0 \implies T_{nk} = 0$. We can also assume $(n)_0 = 1$. Hence our conjecture (eq 12) is valid in general with the summation limit upto n —

$$S_{nk} = \sum_{i=1}^{n} a_{ki}(n)_i 2^{n-i} = \sum_{i=1}^{n} a_{ki} T_{ni} \qquad k \in \mathbb{N}$$
(13)

Since S_{nk} is obtained by setting x = 1 in a polynomial, we denote this polynomial as $S_{nk}^{(x)}$. Our process of multiplication by x followed by differentiation can be encapsulated as —

$$S_{n(k+1)}^{(x)} = \frac{d}{dx} \left[x S_{nk}^{(x)} \right]$$

$$\implies S_{n(k+1)}^{(x)} = S_{nk}^{(x)} + x \frac{d}{dx} S_{nk}^{(x)}$$
(14)

where

$$S_{nk}^{(x)} = \sum_{i=1}^{n} a_{ki}(n)_i x^{i-1} (1+x)^{n-i}$$
(15)

It is easy to see that every polynomial $S_{nk}^{(x)}$ is a polynomial in x of degree (n-1) for $k \in \mathbb{N}$. This is because each successive polynomial is obtained by multiplication by x followed by a differentiation — a step that retains the degree of a polynomial. The recurrence relation among the polynomials (eq 14. Consider the i^{th} term of $S_{nk+1}^{(x)}$ and its co-efficient $a_{(k+1)i}$. This term is built

from terms in $S_{nk}^{(x)}$ as follows —

$$a_{(k+1)i}(n)_i x^{i-1} (1+x)^{n-i} = a_{ki}(n)_i x^{i-1} (1+x)^{n-i} + a_{ki}(n)_i (1+x)^{n-i} x \frac{d}{dx} x^{i-1} + a_{k(i-1)}(n)_{i-1} x^{i-2} x \frac{d}{dx} (1+x)^{n-i+1}$$

$$\implies a_{(k+1)i}(n)_i x^{i-1} (1+x)^{n-i} = i a_{ki}(n)_i x^{i-1} (1+x)^{n-i} + a_{k(i-1)}(n)_i x^{i-1} (1+x)^{n-i}$$
(16)

We can extract the recurrence relation by equating the co-efficients in (16) —

$$a_{(k+1)i} = ia_{ki} + a_{k(i-1)} \tag{17}$$

The co-efficients a_{ki} satisfy the same recurrence as that of the eq (2) — Stirling Numbers of the Second Kind.

4 Triangle of Stirling Numbers of The Second Kind

It is well known that $\sum_{r=0}^{n} {n \choose r} = 2^n$. This represents S_{n0} . Since $(n)_0 = 1$ and $T_{n0} = 2^n$, we get $S_{n0} = a_{00}T_{n0}$ and $a_{00} = 1$. We also define $a_{k0} = 0$ for k > 0 and $a_{ki} = 0$ for i > k. These definitions are consistent with our conjecture (eq 13) and also define the base case of the Stirling Numbers of the Second Kind. Hence, our derived coefficients a_{ki} must be the Stirling Numbers of the Second Kind. We can display these numbers in a triangular fashion in table (4) [14] —

i	0	1	2	3	4	5	6	7
k								
0	1	0	0	0	0	0	0	0
1	0	1	0	0	0	0	0	0
2	0	1	1	0	0	0	0	0
3	0	1	3	1	0	0	0	0
4	0	1	7	6	1	0	0	0
5	0	1	15	25	10	1	0	0
6	0	1	31	90	65	15	1	0
7	0	1	63	301	350	140	21	1

Table 1. Stirling Numbers of the Second Kind

4.1 Verifying The Formula for S_{nk}

We confirm the validity of the method for two examples - one with $k \leq n$ and another with k > n [13]

4

Case 1 - n = 5, k = 4

$$\sum_{r=0}^{5} r^4 \binom{5}{r} = 0^4 \binom{5}{0} + 1^4 \binom{5}{1} + 2^4 \binom{5}{2} + 3^4 \binom{5}{3} + 4^4 \binom{5}{4} + 5^4 \binom{5}{5}$$
$$= 0 + (1 \times 5) + (16 \times 10) + (81 \times 10) + (256 \times 5) + (625 \times 1)$$
$$= 2880$$

From (13), we have -

$$S_{54} = \sum_{i=0}^{5} a_{4i}T_{5i}$$

= $a_{40}T_{50} + a_{41}T_{51} + a_{42}T_{52} + a_{43}T_{53} + a_{44}T_{54} + a_{45}T_{55}$
= $0 + (1 \times 80) + (7 \times 160) + (6 \times 240) + (1 \times 240) + 0$
= 2880

Case 2 - n = 3, k = 6

$$\sum_{r=0}^{3} r^{6} \binom{3}{r} = 0^{6} \binom{3}{0} + 1^{6} \binom{3}{1} + 2^{6} \binom{3}{2} + 3^{6} \binom{3}{3}$$
$$= 0 + (1 \times 3) + (64 \times 3) + (729 \times 1)$$
$$= 924$$

From (13), we have -

$$S_{36} = \sum_{i=0}^{3} a_{6i} T_{3i}$$

= $a_{60} T_{30} + a_{61} T_{31} + a_{62} T_{32} + a_{63} T_{33}$
= $0 + (1 \times 12) + (31 \times 12) + (90 \times 6)$
= 924

5 An Alternate Approach

We shall derive the inverse relation i.e T_{nk} in as a linear sum of S_{nk} 's. From this point on, we shall asume strictly $k \le n$

$$(1+x)^n = \sum_{r=0}^n x^r \binom{n}{r}$$

Differentiating k times -

$$\left[\prod_{i=0}^{k-1} (n-i)\right] (1+x)^{n-k} = \sum_{r=k}^{n} \left[\prod_{i=0}^{k-1} (r-i)\right] x^{r-k} \binom{n}{r}$$
(18)

The product on the LHS is just the falling factorial. One can expand the product on the RHS with generalised coefficients b_{ki} —

$$\prod_{i=0}^{k-1} (r-i) = \sum_{i=1}^{k} b_{ki} r^{i}$$
(19)

Plugging in (19) in (18) and multiplying both sides by x^k —

$$(n)_{k}x^{k}(1+x)^{n-k} = \sum_{r=k}^{n}\sum_{i=1}^{k}b_{ki}r^{i}x^{r}\binom{n}{r}$$
$$= \sum_{r=0}^{n}\sum_{i=1}^{k}b_{ki}r^{i}x^{r}\binom{n}{r} - \sum_{r=0}^{k-1}\sum_{i=1}^{k}b_{ki}r^{i}x^{r}\binom{n}{r}$$
$$= \sum_{i=1}^{k}b_{ki}\sum_{r=0}^{n}r^{i}x^{r}\binom{n}{r} - \sum_{r=0}^{k-1}x^{r}\binom{n}{r}\left[\sum_{i=1}^{k}b_{ki}r^{i}\right]$$
$$= \sum_{i=1}^{k}b_{ki}\sum_{r=0}^{n}r^{i}x^{r}\binom{n}{r} - \sum_{r=0}^{k-1}x^{r}\binom{n}{r}\left[\prod_{i=0}^{k-1}(r-i)\right] \quad (20)$$

Plugging in x = 1 in (20) —

$$(n)_{k} 2^{n-k} = \sum_{i=1}^{k} b_{ki} \left[\sum_{r=0}^{n} r^{i} \binom{n}{r} \right] - \sum_{r=0}^{k-1} \binom{n}{r} \left[\prod_{i=0}^{k-1} (r-i) \right]$$

$$\implies T_{nk} = \sum_{i=1}^{k} b_{ki} S_{ni} - \sum_{r=0}^{k-1} \binom{n}{r} \left[\prod_{i=0}^{k-1} (r-i) \right]$$
(21)

In the summation indexed by r on the RHS of (21), r can only take values from $\{0, 1, \dots, k-1\}$. The product vanishes for every value of r as i indexes from 0 to k-1. Hence the second summation term is identically zero. Ultimately we obtain the inverse relation to eq (13) as —

$$T_{nk} = \sum_{i=1}^{k} b_{ki} S_{ni} \tag{22}$$

6 Obtaining The Recurrence Relation For b_{ki}

From the definition of b_{ki} , it can be seen that the co-efficient of the lowest power is $b_{k1} = \prod_{i=1}^{k-1} (-1)^i i = (-1)^{k-1} (k-1)!$. Moreover, the co-efficient of the highest power is $b_{kk} = 1$. We have established the base cases and can continue to establish the recurrence relation. From (19), we have -

$$\prod_{i=0}^{k} (r-i) = \sum_{i=1}^{k+1} b_{(k+1)i} r^{i}$$

$$\implies \sum_{i=1}^{k+1} b_{(k+1)i} r^{i} = (r-k) \left[\prod_{i=0}^{k-1} (r-i) \right]$$

$$= (r-k) \left[\sum_{i=1}^{k} b_{ki} r^{i} \right]$$

$$= \sum_{i=1}^{k} b_{ki} r^{i+1} - \sum_{i=1}^{k} k b_{ki} r^{i}$$

We equate the coefficients in the relation —

$$\sum_{i=1}^{k+1} b_{(k+1)i} r^{i} = \sum_{i=2}^{k-1} b_{k(i-1)} r^{i} - \sum_{i=1}^{k} k b_{ki} r^{i}$$
(23)

A recurrence from (23) could be extracted as follows —

$$b_{(k+1)i} = b_{k(i-1)} - kb_{ki} \tag{24}$$

The coefficients b_{ki} satisfy the same recurrence as that of the Signed Stirling Numbers of the First Kind (eq 3).

7 Triangle of Signed Stirling Numbers of the First Kind

	i	0	1	2	3	4	5	6	7
k									
0		1	0	0	0	0	0	0	0
1		0	1	0	0	0	0	0	0
2		0	-1	1	0	0	0	0	0
3		0	2	-3	1	0	0	0	0
4		0	-6	11	-6	1	0	0	0
5		0	24	-50	35	-10	1	0	0
6		0	-120	274	-225	85	-15	1	0
7		0	720	-1764	1624	-735	175	-21	1

Table 2. Signed Stirling Numbers of the First Kind

As argued previously, we set $b_{00} = 1$ to satisfy our conjecture (eq 13) and $b_{k0} = 0$ for k > 0 and $b_{ki} = 0$ for i > k. Since they satisfy the same base case as

the Signed Stirling Numbers of the First Kind, the coefficients b_{ki} must be the Signed Stirling Numbers of the First Kind. We can again display these numbers in a triangular fashion in table (7) [13].

7.1 Verifying The Formula For T_{nk}

It has already been stated that $k \leq n$. Hence, we shall verify the formula (22) for the two cases below [14]

Case 1 - n = 5, k = 3

$$T_{53} = 240$$

 $S_{51} = 80$
 $S_{52} = 240$
 $S_{53} = 800$

From eq (22), we have —

 $b_{31}S_{51} + b_{32}S_{52} + b_{33}S_{53} = (2 \times 80) - (3 \times 240) + (1 \times 800)$ = 240

Case 2 - n = 6, k = 4

$$T_{64} = 1440$$
$$S_{61} = 192$$
$$S_{62} = 672$$
$$S_{63} = 2592$$
$$S_{64} = 10752$$

From eq (22), we have —

 $b_{41}S_{61} + b_{42}S_{62} + b_{43}S_{63} + b_{44}S_{64} = (-6 \times 192) + (11 \times 672) - (6 \times 2592) + (1 \times 10752)$ = 1440

8 Proving The Inverse Nature of The Sequences

We shall concern ourselves only with a square sub-section of the table of Stirling numbers (i.e $1 \le k \le n$). By using (25) in our conjecture (eq 12), we

get -

$$T_{nk} = \sum_{i=1}^{k} b_{ki} S_{ni}$$
$$= \sum_{i=1}^{k} b_{ki} \left(\sum_{l=1}^{i} a_{il} T_{nl} \right)$$
$$= \sum_{i=1}^{k} \sum_{l=1}^{i} b_{ki} a_{il} T_{nl}$$

The inner sum runs from l = 1 to i. We note that $i \leq k$ due to the outer sum and it does not make a difference to change the upper limit of the inner sum to k. Since the same represented is the same, we must have —

$$\sum_{i=1}^{k} \sum_{l=1}^{k} b_{ki} a_{il} T_{nl} = \sum_{l=1}^{k} \delta_{kl} T_{nl}$$
$$= T_{nk}$$

With the Einstein summation convention [10], we can say $b_{ki}a_{ij} = \delta_{kj}$. The square matrices represented by a square-section of the two tables (4 and 7) are inverse to each other. Hence, we have also established the inverse relationship between the Signed Stirling Numbers of the First Kind and Stirling Numbers of the Second Kind.

9 Conclusion

We have developed a novel way to evaluate a power sum of binomial co-efficients with the derivation of a new series of co-efficients and proven them equivalent to the Stirling Numbers of the First and Second Kind.

References

- 1. Victor Adamchik. On Stirling numbers and Euler sums. Journal of Computational and Applied Mathematics, 79(1):119–130, March 1997.
- 2. Khristo N. Boyadzhiev. Power sum identities with generalized Stirling numbers. arXiv:0909.1852 [math], September 2009. arXiv: 0909.1852.
- 3. Khristo N. Boyadzhiev. Close Encounters with the Stirling Numbers of the Second Kind. *Mathematics Magazine*, 85(4):252–266, October 2012.
- 4. Neil Calkin. Factors of sums of powers of binomial coefficients. Acta Arithmetica, 86(1):17–26, 1998.
- Junesang Choi. Summation Formulas Involving Binomial Coefficients, Harmonic Numbers, and Generalized Harmonic Numbers, July 2014. ISSN: 1085-3375 Pages: e501906 Publisher: Hindawi Volume: 2014.
- 6. John Engbers and Christopher Stocker. Two Combinatorial Proofs of Identities Involving Sums of Powers of Binomial Coefficients. page 6, 2016.

Anwesh Bhattacharya

- H. W. Gould. Euler's formula for nth differences of powers. The American Mathematical Monthly, 85(6):450–467, 1978.
- Donald E. Knuth. Two notes on notation. arXiv:math/9205211, April 1992. arXiv: math/9205211.
- 9. Werner C. Rheinboldt. SIAM Review, 2(3):227-229, 1960.
- K. F. Riley, M. P. Hobson, and S. J. Bence. Mathematical Methods for Physics and Engineering: A Comprehensive Guide. Cambridge University Press, 3 edition, 2006.
- 11. Sebastian Martin Ruiz. An Algebraic Identity Leading to Wilson Theorem. arXiv:math/0406086, June 2004. arXiv: math/0406086.
- 12. Ian Tweddle. James Stirling's Methodus Differentialis. Springer London, 2003.
- Triangle of Signed Stirling Numbers of The First Kind, OEIS Foundation Inc. (2019), The On-Line Encyclopedia of Integer Sequences, https://oeis.org/A048994
- 14. Triangle of Stirling Numbers of The Second Kind, OEIS Foundation Inc. (2019), The On-Line Encyclopedia of Integer Sequences, https://oeis.org/A008277